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B3 -2 BEYIHERTILEESNIEEIBEIZEE1/2) _ e R 6
SEfRMOHE | ERES 129A0523-2 EliES \ Zi&(2)-5 |  PFriEM ERIGRER KHERT E=TH
. SMERM O T inIBES St i SERHEA
ﬁﬁg TREOBHOEILADKRES TREDOHBSILNDKRES TREOBBOEILADKRES TREDHBESSLNDKRES
= = AV = HVE Tl = = T HVE = W HVE ==
&5 X 4 .(Er,na; 'Finﬁfa(z)@ﬂﬁﬁﬁ jn(gilch)é X 4 'Fmﬁzégg;kfF .z.na; jj(:ilgcf)é X 4 .(Er,na; J:Jﬁﬁb(z)@ttlsl jj(gilch)é X 4 J:m;b(z)oatt.s. 'Z]né){ jj(ﬁjff)é
’ 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - —| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 433 54.05| Zh L4t 1000 ~ 433] 2.13 10.79 ZnLst 1.00f 500 ~ 586 54.05| Zhist | 500 ~ 586] 2.13 10.79
9 100kN/M%#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 483 60.22| ZhList 1000 ~ 4.383| 2.00 10.11 ZnLst 1.00f 500 ~ 582 60.22| #h st | 500 ~ 582 2.00 10.11
3 100kN/M%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 433 54.10| ZhList | 0.00 ~ 433| 2.04 10.33 ZznLst 1.00f 500 ~ 531 54.10| Zhlist | 500 ~ 531 2.04 10.33
4 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st - = ~ - -| £hiist = ™~ - - - Zh st - = Kt - -| #hiist = K - - -
5 100kN/M%Z#B % % -l -~ = -|3mZBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ 3 =~ = = =
Zzh st - = ~ - -| £hiis = ™~ - - - Zzh st - = Kt - -| #hist = K - - -
6 100kN/M%Z#8B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st - = ~ - -| £hiist = ™~ - - - Zh st - = Kt - -| #hlist = K - - -
7 100kN/M%Z#8B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st - = ~ - -| £hiis = ™~ - - - Zh st - = Kt - -| #hist = K - - -
8 100kN/mMZ#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st - = ~ - -| £hiist = ™~ - - - Zh st - = Kt - -| #hiis = K - - -
9 100kN/mM#E#BZ % 1.00({0.00 ~ 299 147.53|3m%EB 25 = ~ - = —| 100kN/mM%#B 2% 1.00| 10.58 ~ 25.39 147.53|3m%EEZ 5 =l ~ - - -
zh st 1.00{2.99 ~ 10.78 100.00| 1 dst | 0.00 ~ 10.78] 2.43 12.30 ZnLst 1.00f 500 ~ 10.58 100.00] #hkist | 5.00 ~ 2539 243 12.30
10 100kN/mM#%#BZ % 1.00({0.00 ~ 289 145.79|3m%EB 25 = ~ - = —| 100kN/mM%#B 2% 1.00 10.59 ~ 26.94 145.79|3m%EEZ 5 =l ~ - - -
Zzh st 1.00(2.89 ~ 10.67 100.00] #hkist | 0.00 ~ 10.67| 2.64 13.35 ZnLst 1.00f 5.00 ~ 10.59 100.00] #hkist | 5.00 ~ 26.94| 2.64 13.35
11 100kN/mM#%#BZ % 1.00({0.00 ~ 290 145.96|3m%E{E 25 = ~ - = —| 100kN/mM%#B 2% 1.00( 10.60 ~ 27.17 145.96|3m%EEZ 5 =l ~ - - -
zh st 1.00{2.90 ~ 10.68 100.00| Z#hlist | 0.00 ~ 10.68] 2.97 15.02 ZnLst 1.00f 5.00 ~ 10.60 100.00] #hist | 5.00 ~ 27.17| 2.97 15.02
12 100kN/mM#%#BZ % 1.00({0.00 ~ 0.79 111.78|3m%E#B 25 = ~ - = —| 100kN/mM%#B 2% 1.00| 10.77 ~ 13.31 111.78|3m%EE 25 =l ~ - - -
Zzh st 1.00{0.79 ~ 857 100.00| Z#his |0.00 ~ 8.57| 2.09 10.54 ZznLst 1.00f 5.00 ~ 10.77 100.00] #hist | 5.00 ~ 13.31| 2.09 10.54
13 100kN/m#E#BZ % -l -~ = —-|3m#ZEEZ5 -~ = = —| 100kN/mM%#B 2% = -~ = —-|3mZEEZS ol ~ - - -
Zn Lot 1.00{0.00 ~ 7.51 96.03| Zn L4 |0.00 ~ 751 1.79 9.07 ZznLst 1.00f 500 ~ 9.87 96.03| Zn st | 500 ~ 987 1.79 9.07
14 100kN/m#E#BZ % -l -~ = —-|3mZEEZS -~ = = —| 100kN/mM%#B 2% = -~ = —-|3mZEEZS ol ~ - - -
Zn Lot 1.00{0.00 ~ 740 94.38] Zh L4t 1000 ~ 740 1.81 9.13 ZznLst 1.00f 500 ~ 9.62 94.38] #huist | 500 ~ 9.62 1.81 9.13
15 100kN/m#E#BZ % -l -~ = —-|3mZEBZ5 -~ = = —| 100kN/mM%#8 2% = -~ = —-|3mZEBZS ol ~ - - -
ZThESH 1.00/ 000 ~ 7.26 92.46| Fhlist | 000 ~ 7.26| 247 12.48 ZhLs 1.00] 500 ~ 1053 92.46| #hbist | 500 ~ 1053| 247 12.48
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ﬁ%&g TREOBHOEILADKRES TREDOHBSILNDKRES TREOBBOEILADKRES TREDHBESSLNDKRES
= = AV = HVE Tl = = T HVE = W HVE 2l 5
16 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - —| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st - = ~ - -| £hiist = ™~ - - - Zh st - = Kt - -| #hiis = K - - -
17 100kN/M%#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 6.26 78.64| ZhList |0.00 ~ 6.26] 2.32 11.74 ZnLst 1.00f 500 ~ 1284 78.64| Zh st | 500 ~ 12.84| 2.32 11.74
18 100kN/M%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st - = ~ - -| £hiist = ™~ - - - Zzh st - = Kt - -| #hiist = K - - -
19 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st - = ~ - -| £hiist = ™~ - - - Zh st - = Kt - -| #hiist = K - - -
20 100kN/M%Z#B % % -l -~ = -|3mZBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ 3 =~ = = =
Zzh st - = ~ - -| £hiis = ™~ - - - Zzh st - = Kt - -| #hist = K - - -
91 100kN/mM#%#BZ % - =1 ~ = -|3m%# 25| 0.00 ~ 0.00] 3.00 15.18| 100kN/m%#B x5 - ol ~ = -|3m%# 25| 10.00 ~ 10.31| 3.00 15.18
Zzh st 1.00{0.00 ~ 478 59.58| #nList |0.00 ~ 4.78| 3.00 15.16 ZznLst 1.00f 5.00 ~ 10.31 59.58| #h st | 5.00 ~ 10.00| 3.00 15.16
99 100kN/M%Z#8B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 594 7432 #hList | 000 ~ 594 2.87 14.48 ZznLst 1.00f 500 ~ 11.76 7432 #hist | 500 ~ 11.76] 2.87 14.48
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#B % % ~ ImEEZD ~
zh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#8Z% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ 3ImEFEZD ~ 100kN/m%#8Z 5% ~ ImEFEZD ~
ZThESH ~ ZThLst ~ ZhLS ~ Zh st ~
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